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1. Demonstrate that the decimal 3. 612 is rational b
integer.
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2. Simplify each of the exponential expressions as completely as possible. Write all answers sgéh :
that there are no negative exponents.

y rewriting it as an integer divided by another
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3. Simplify each of the radical exp
possible.
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ressions as completely as possible. Combine like terms where
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1. Multiply each of th Wssioms. Combine like terms where possible

) (2x%+ B~ BT 2 2_
k\‘ ’M%/ ‘_alx Zﬂ\

BB o B —5{"
B AN N 25X
Uy * o bx 10

-L\ \}m +j) LQ—X Y Ane™ =AD" +L\\/y£/)

\/
= I 4929 -5 Ty

a) @ ><.?§1 .
64 =24
= Q_K Y @ /\

,,,,,, e

?Hs Q\Ax W @X eré)m

= b {%+2) '3(**3\ I
Hoi B —wzgmam 5

N
125y N ’)‘l 3 ‘3 C&xb}(& i

@33 Eacal ‘57‘23*93 a®=125-" & =27y 7|
CL = 5x* e 33 ?
o= Zg‘?xﬂ b e qj

A XEY A

1




1. Wse P\—oce_';(‘ OQ Q@V\V\Qﬂ —+ W SZMQ o e L te

© — 5%2 — O oy Space 3
S aeka e W it 2 tems

@) 50 12 w2y, b % £ i
(L oF 2 )

6‘(‘\\:‘3'\\-/\6-\ QK{QT@S’S/N)\
c e atkually o (~5)Ee)
“added
A . (f,e.>5'u5{lmm
(=) (26)

@i}“ k5 \@—%‘E I 18 2% T
Tt el K]
- [*"(o”\'cg 4+ loy® —30x|
T BYe3xr1m
= Pie 2= fn ]

G,




%L(d)o”* bobrove 7 It Cowres dovsw o a\ﬁ@hm VR LNGA t(c)\,\
RN NS Clx) *o  €) for even " ¥ Cor odd |
o) = Tl 5 -6 - ) = el 2 560

—XY 2 B X3
[r\o+ OC’M)

#‘ Q C\L\ QV\QT e U‘QV\X

7x—-1
x+3

3. Suppose f(x) =

a) Use the definition of one-to-one to demonstrate that f is a one-to-one function.
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b) Find f~1, the inverse function of f.
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c¢) Find the range of f. WP e e

D ma Dom of £ :E&Mfec o i -+ = - x|
- s \ Do sha + 7 g oy -\
s elar £ A \3 = e Byt o= g ()
“hen ?\Pr Isi“j ¥, (oo ’?>U(1’w§ R o) Renamy
d) Demonstrate that f is neither an odd function nor an even function. (There are many possible
ways to do this.) ( 3
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d)4x +7x—9 =0

3. Solve each of the following quadratic equations for x.
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1. Find the domain of each of the following functions.

a) f(x) =§%\ ZC)WB M na s |
Dom(f) = 234 e 20O

(2% & D= +*2N =0

So w=all veals (‘ )

b) g(x) = ¥x =5 AR AR PIRLR,
Dom(g) =" (~oco,®)

_x? ( if5isian even integt;f\\\" This i Aowadn
c) h(x) = {x - 1\\ E xis anodd integer ”

_g|—2’~\)0'(|2‘3,,..§

Dom(h) = Z ¢k O‘P nm_-).gge,rg Zu.'
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b) Find the domain of f o g. :
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